Bipolar Anti Fuzzy Hx Ring

M. Sridharan¹, G. Sabarinathan², M.S. Muthuraman³, K.H. Manikandan⁴, R. Muthuraj⁵

^{1,2,3,4}Department of Mathematics, PSNA College of Engineering and Technology, Dindigul - 624 622, Tamilnadu, India. E-mail: <u>msridharan1972@gmail.com</u> <u>sabarinathan.g@gmail.com</u> <u>ramanpsna70@gmail.com</u> <u>manimaths7783@gmail.com</u>

⁵PG & Research Department of Mathematics, H.H.The Rajah's College, Pudukkottai 622 001, Tamilnadu, India. E-mail: <u>rmr1973@yahoo.co.in</u>

Abstract : In this paper, we define the notion of bipolar anti fuzzy HX subring of a HX ring and some of their related properties are investigated. We discuss the concept of an image, pre-image of a bipolar anti fuzzy HX subring and homomorphic, anti homomorphic properties of a bipolar anti fuzzy HX subring of a HX ring are discussed.

Keywords: intuitionistic fuzzy set, fuzzy HX ring, bipolar anti fuzzy HX subring, homomorphism and anti homomorphism of a bipolar anti fuzzy HX subring, image and pre-image of a bipolar anti fuzzy HX subring.

Introduction

In 1965, Zadeh [7] introduced the concept of fuzzy subset μ of a set X. Bipolar valued fuzzy set, which was introduced by K.M.Lee [4] are an extension of fuzzy sets whose membership degree range is enlarged from the interval [0, 1] to [-1, 1]. In a bipolar-valued fuzzy set, the membership degree 0 means that the elements are irrelevant to the corresponding property, the membership degree (0, 1] indicates that elements somewhat satisfy the property and the membership degree [-1, 0) indicates that elements somewhat satisfy the implicit counterproperty. R.Muthuraj et.al[6]., introduced the concept of Bipolar fuzzy and anti fuzzy HX subgroup. In 1988, Professor Li Hong Xing [3] proposed the concept of HX ring and derived some of its properties, then Professor Zhong [2] gave the structures of HX ring on a class of ring. R.Muthuraj et.al[5]., introduced the concept of fuzzy HX ring. In this paper we define a new algebraic structure of a bipolar anti fuzzy HX subring of a HX ring and investigate some related properties. Also we introduce the image and pre-image of a bipolar anti fuzzy HX subring and discuss some of its properties.

Preliminary

In this section, we site the fundamental definitions that will be used in the sequel. Throughout this paper, $R = (R, +, \cdot)$ is a Ring, e is the additive identity element of R and xy, we mean x.y **2.1 Definition**

Let R be a ring. In 2^R - { ϕ }, a non-empty set $\vartheta \subset 2^R - {\phi}$ with two binary operation '+' and '.' is said to be a HX ring on R if ϑ is a ring with respect to the algebraic operation defined by i.A + B = {a + b / a \in A and b \in B}, which its null element is denoted by Q, and the negative element of A is denoted by – A. International Journal of Modern Agriculture, Volume 10, No.1, 2021 ISSN: 2305-7246

ii. $AB = \{ab / a \in A \text{ and } b \in B\},\$ iii. A (B + C) = AB + AC and (B + C) A = BA + CA.

3 Bipolar anti fuzzy HX subring of a HX ring

In this section we define the concept of a bipolar anti fuzzy HX subring of a HX ring and discuss some related results.

3.1 Definition

Let R be a ring. Let $\mu = \{ \langle x, \mu^+(x), \mu^-(x) \rangle / x \in R \}$ be a bipolar fuzzy set defined on a ring R, where $\mu^+ : R \rightarrow [0,1], \mu^- : R \rightarrow [-1,0]$. Let $\Re \subset 2^R - \{\phi\}$ be a HX ring. A bipolar fuzzy subset $\lambda_{\mu} = \{ \langle A, \lambda^+_{\mu}(A), \lambda^-_{\mu}(A) \rangle / A \in \Re \}$ of \Re is called a bipolar anti fuzzy HX subring of \Re or a bipolar anti fuzzy subring induced by μ if the following conditions are satisfied. For all A,B $\in \Re$,

(i). $\lambda^{+}_{\mu} (A - B) \leq \max \{ \lambda^{+}_{\mu} (A), \lambda^{+}_{\mu} (B) \}$, (ii). $\lambda^{+}_{\mu} (AB) \leq \max \{ \lambda^{+}_{\mu} (A), \lambda^{+}_{\mu} (B) \}$, (iii). $\lambda^{-}_{\mu} (A - B) \geq \min \{ \lambda^{-}_{\mu} (A), \lambda^{-}_{\mu} (B) \}$, (iv) $\lambda^{-}_{\mu} (AB) \geq \min \{ \lambda^{-}_{\mu} (A), \lambda^{-}_{\mu} (B)$. where $\lambda^{+}_{\mu} (A) = \min \{ \mu^{+}(x) / \text{ for all } x \in A \subseteq R \}$ and $\lambda^{-}_{\mu} (A) = \max \{ \mu^{-}(x) \rangle / \text{ for all } x \in A \subseteq R \}$. **3.2 Theorem**

If $\mu = \{ \langle x, \mu^+(x), \mu^-(x) \rangle / x \in R \}$ is a bipolar anti fuzzy subring of a ring R then the bipolar fuzzy subset λ_{μ} is a bipolar anti fuzzy HX subring of a HX ring \Re .

Proof: It is clear

3.3 Theorem

Let G and H be any two bipolar fuzzy sets on R. Let γ_G and λ_H be any two bipolar anti fuzzy HX subrings of a HX ring \Re then their union, $\gamma_G \cup \lambda_H$ is also a bipolar anti fuzzy HX subring of a HX ring \Re .

Proof It is clear.

3.4 Theorem

Let G and H be any two bipolar fuzzy sets on R. Let γ_G and λ_H be any two bipolar anti fuzzy HX subrings of a HX ring \Re then their intersection, $\gamma_G \cap \lambda_H$ is also a bipolar anti fuzzy HX subring of a HX ring \Re .

Proof Let $G = \{ \langle x, \alpha^+(x), \alpha^-(x) \rangle / x \in R \}$ and $H = \{ \langle x, \beta^+(x), \beta^-(x) \rangle / x \in R \}$ be any two bipolar fuzzy sets defined on a ring R.Then, $\gamma_G = \{ \langle A, \gamma^+_{\alpha}(A), \gamma^-_{\alpha}(A) \rangle / A \in \Re \}$ and $\lambda_H = \{ \langle A, \lambda^+_{\beta}(A), \lambda^-_{\beta}(A) \rangle / A \in \Re \}$ be any two bipolar anti fuzzy HX subrings of a HX ring \Re .Then, $\gamma_G \cap \lambda_H = \{ \langle A, (\gamma^+_{\alpha} \cap \lambda^+_{\beta}) (A), (\gamma^-_{\alpha} \cup \lambda^-_{\beta})(A) \rangle / A \in \Re \}$

Let $A, B \in \mathfrak{R}$

$$\begin{split} \text{i.} & (\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta}) \left(A - B \right) = \min \left\{ \gamma^{+}_{\alpha} \left(A - B \right), \lambda^{+}_{\beta} \left(A - B \right) \right\} \\ & \leq \min \left\{ \max \left\{ \gamma^{+}_{\alpha} \left(A \right), \gamma^{+}_{\alpha} \left(B \right) \right\}, \max \left\{ \lambda^{+}_{\beta} \left(A \right), \lambda^{+}_{\beta} \left(B \right) \right\} \right\} \\ & = \max \left\{ \min \left\{ \gamma^{+}_{\alpha} \left(A \right), \lambda^{+}_{\beta} \left(A \right) \right\}, \min \left\{ \gamma^{+}_{\alpha} \left(B \right), \lambda^{+}_{\beta} \left(B \right) \right\} \right\} \\ & = \max \left\{ \left(\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(A \right), \left(\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(B \right) \right\} \\ & (\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta}) \left(A - B \right) & \leq \max \left\{ \left(\gamma^{+}_{\alpha} \cup \lambda^{+}_{\beta} \right) \left(A \right), \left(\gamma^{+}_{\alpha} \cup \lambda^{+}_{\beta} \right) \left(B \right) \right\} \\ & = \min \left\{ \gamma^{+}_{\alpha} \left(A B \right), \lambda^{+}_{\beta} \left(A B \right) \right\} \\ & \leq \min \left\{ \max \left\{ \gamma^{+}_{\alpha} \left(A \right), \gamma^{+}_{\alpha} \left(B \right) \right\}, \min \left\{ \gamma^{+}_{\alpha} \left(B \right), \lambda^{+}_{\beta} \left(B \right) \right\} \right\} \\ & = \max \left\{ \min \left\{ \gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(A \right), \left(\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(B \right) \right\} \\ & (\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta}) \left(A B \right) & \leq \max \left\{ \left(\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(A \right), \left(\gamma^{+}_{\alpha} \cap \lambda^{+}_{\beta} \right) \left(B \right) \right\}. \end{split}$$

International Journal of Modern Agriculture, Volume 10, No.1, 2021 ISSN: 2305-7246

Hence, $\gamma_G \cap \lambda_H$ is a bipolar anti fuzzy HX subring of a HX ring \Re .

3.5 Definition

Let G = { $\langle x, \alpha^+(x), \alpha^-(x) \rangle / x \in \mathbb{R}$ } and H = { $\langle x, \beta^+(x), \beta^-(x) \rangle / x \in \mathbb{R}$ } be any two bipolar fuzzy sets defined on a ring R. Let $\mathfrak{R}_1 \subset 2^{\mathbb{R}}_1 - \{\phi\}$ and $\mathfrak{R}_2 \subset 2^{\mathbb{R}}_2 - \{\phi\}$ be any two HX rings. Let $\gamma_G = \{ \langle A, \gamma^+_{\alpha}(A), \gamma^-_{\alpha}(A) \rangle / A \in \mathfrak{R} \}$ and $\lambda_H = \{ \langle A, \lambda^+_{\beta}(A), \lambda^-_{\beta}(A) \rangle / A \in \mathfrak{R} \}$ be any two bipolar fuzzy subsets of a HX ring \mathfrak{R} , then the anti-product of γ_G and λ_H is defined as

 $(\gamma_G \times \lambda_H) \ = \ \{ \langle (A,B), \, (\gamma^+_\alpha \cup \lambda^+_\beta)(A,B), \, (\gamma^-_\alpha \cap \lambda^-_\beta)(A,B) \rangle \ / (A,B) \in \mathfrak{R}_1 \ \times \mathfrak{R}_2 \},$

where,

$$(\gamma^{+}_{\alpha} \cup \lambda^{+}_{\beta})(A, B) = \max \{ \gamma^{+}_{\alpha} (A), \lambda^{+}_{\beta} (B) \}, \text{ for all } (A, B) \in \mathfrak{R}_{1} \times \mathfrak{R}_{2}, (\gamma^{-}_{\alpha} \cap \lambda^{-}_{\beta})(A, B) = \min \{ \gamma^{-}_{\alpha} (A), \lambda^{-}_{\beta} (B) \}, \text{ for all } (A, B) \in \mathfrak{R}_{1} \times \mathfrak{R}_{2}.$$

3.6 Theorem

Let G and H be any two bipolar fuzzy sets of R_1 and R_2 respectively. Let $\mathfrak{R}_1 \subset 2^{R_1} - \{\phi\}$ and $\mathfrak{R}_2 \subset 2^{R_2} - \{\phi\}$ be any two HX rings. If γ_G and λ_H are any two bipolar anti fuzzy HX subrings of \mathfrak{R}_1 and \mathfrak{R}_2 respectively then, $\gamma_G \times \lambda_H$ is also a bipolar anti fuzzy HX subring of a HX ring $\mathfrak{R}_1 \times \mathfrak{R}_2$.

Proof It is clear.

3.7 Theorem

Let $H = \{ \langle x, \beta^+(x), \beta^-(x) \rangle / x \in R \}$ be a bipolar fuzzy set defined on R. Let $\lambda_H = \{ \langle A, \lambda^+_\beta(A), \lambda^-_\beta(A) \rangle / A \in \Re \}$ be a bipolar fuzzy HX subring of \Re if and only if $(\lambda_H)^c$ is a bipolar anti fuzzy HX subring of \Re .

Proof Let λ_H be a bipolar fuzzy HX subring of \Re .

Let $A, B \in \mathfrak{R}$

i.	λ^{+}_{β} (A–B)	\geq	min{ λ^{+}_{β} (A), λ^{+}_{β} (B) }
	$\Leftrightarrow 1 - \lambda^{+}_{\beta} (A - B)$	\leq	$1 - \min \left\{ \lambda^{+}{}_{\beta} (\mathbf{A}), \lambda^{+}{}_{\beta} (\mathbf{B}) \right\}$
	$\Leftrightarrow (\lambda^+{}_\beta)^c(A-B)$	\leq	max { $(1-\lambda^{+}\beta(A)),(1-\lambda^{+}\beta(B))$ }
	$\Leftrightarrow (\lambda^{+}{}_{\beta})^{c}(A{-}B)$	\leq	max $\{(\lambda^+\beta)^c(\mathbf{A}), (\lambda^+\beta)^c(\mathbf{B})\}.$
ii.	λ^{+}_{β} (AB)	\geq	min{ $\lambda^{+}\beta(A), \lambda^{+}\beta(B)$ }
	$ \Leftrightarrow 1 - \lambda^{+}{}_{\beta} (AB) $	\leq	$1 - \min \left\{ \ \lambda^{+}_{\beta} \left(A \right), \lambda^{+}_{\beta} \left(B \right) \right\}$
	$\Leftrightarrow (\lambda^+{}_\beta)^c(AB)$	\leq	max { $(1-\lambda^{+}\beta(A)),(1-\lambda^{+}\beta(B))$ }
	$\Leftrightarrow (\lambda^+{}_\beta)^c(AB)$	\leq	max { $(\lambda^+\beta)^c(A), (\lambda^+\beta)^c(B)$ }.
iii.	$\lambda^{-\beta} (A-B)$	\leq	max{ $\lambda^{-\beta}(A), \lambda^{-\beta}(B)$ }
	$\Leftrightarrow -1 - \lambda^{-}_{\beta} (A - B)$	\geq	$-1 - \max \{ \lambda^{-}_{\beta}(A), \lambda^{-}_{\beta}(B) \}$
	$\Leftrightarrow (\lambda^{-}_{\beta})^{c}(A-B)$	\geq	min { $(-1 - \lambda_{\beta}^{-}(A)), (-1 - \lambda_{\beta}^{-}(B))$ }
	$\Leftrightarrow (\lambda^{-}\beta)^{c}(A-B)$	\geq	min $\{(\lambda^{-}\beta)^{c}(A), (\lambda^{-}\beta)^{c}(B)\}.$

International Journal of Modern Agriculture, Volume 10, No.1, 2021 ISSN: 2305-7246

iv

iv.	λ^{-}_{β} (AB)	\leq	max{ λ^{-}_{β} (A), λ^{-}_{β} (B) }
	$\Leftrightarrow -1 - \lambda_{\beta}^{-}(AB)$	\geq	$-1 - \max \{ \lambda_{\beta}^{-}(A), \lambda_{\beta}^{-}(B) \}$
	$\Leftrightarrow (\lambda^{-}\beta)^{c}(AB)$	\geq	min { $(-1-\lambda_{\beta}^{-}(A)), (-1-\lambda_{\beta}^{-}(B))$ }
	$\Leftrightarrow (\lambda^{-}\beta)^{c}(AB)$	\geq	min { $(\lambda^{-}\beta)^{c}(A), (\lambda^{-}\beta)^{c}(B)$ }.

Hence, $(\lambda^{\mu})^{c}$ is a bipolar anti fuzzy HX subring of \Re .

4 Homomorphism and anti homomorphism

4.1 Definition

Let R_1 and R_2 be any two rings. Let $\mathfrak{R}_1 \subset 2^{R_1} - \{\phi\}$ and $\mathfrak{R}_2 \subset 2^{R_2} - \{\phi\}$ be any two HX rings defined on R_1 and R_2 respectively. Let G and H be any two bipolar fuzzy subsets in R_1 and R_2 respectively. Let γ_G and λ_H be any two bipolar anti fuzzy HX subrings of HX rings \mathfrak{R}_1 and \mathfrak{R}_2 respectively induced by G and H. Let f: $\mathfrak{R}_1 \to \mathfrak{R}_2$ be a mapping then the image of λ_G denoted as f (λ_G) is a bipolar fuzzy subset of \mathfrak{R}_2 and is defined as for each $Y \in \mathfrak{R}_2$,

$$(f(\gamma^{+}_{\alpha}))(Y) = \begin{cases} \min \{\gamma^{+}_{\alpha}(X): X \in f^{-1}(Y)\} &, \text{ if } f^{-1}(Y) \neq \phi \\ 1 &, \text{ otherwise} \end{cases}$$
$$(f(\gamma^{-}_{\alpha}))(Y) = \begin{cases} \min \{\gamma^{-}_{\alpha}(X): X \in f^{-1}(Y)\} &, \text{ if } f^{-1}(Y) \neq \phi \\ -1 &, \text{ otherwise} \end{cases}$$

Also the pre-image of λ_H denoted as $f^{-1}(\lambda_H)$ under f is a bipolar fuzzy subset of \mathfrak{R}_1 defined as for each $X \in \mathfrak{R}_1$, $(f^{-1}(\lambda^+\beta))(X) = \lambda^+\beta (f(X))$ and $(f^{-1}(\lambda^-\beta))(X) = \lambda^-\beta (f(X))$. **4.2 Theorem**

Let \mathfrak{R}_1 and \mathfrak{R}_2 be any two HX rings on the rings R_1 and R_2 respectively. Let $f: \mathfrak{R}_1 \to \mathfrak{R}_2$ be a homomorphism onto HX rings. Let G be a bipolar fuzzy subset of R_1 . Let γ_G be a bipolar anti fuzzy HX subring of \mathfrak{R}_1 then f (γ_G) is a bipolar anti fuzzy HX subring of \mathfrak{R}_2 , if γ_G has a infimum property and γ_G is f-invariant.

Proof Let $G = \{ \langle x, \alpha^+(x), \alpha^-(x) \rangle / x \in R_1 \}$ be a bipolar fuzzy set defined on a ring R_1 . Then, $\gamma_G = \{ \langle X, \gamma^+_{\alpha}(X), \gamma^-_{\alpha}(X) \rangle / X \in \mathfrak{R}_1 \}$ be a bipolar anti fuzzy HX subring of a HX ring \mathfrak{R}_1 . Then, $f(\gamma_G) = \{ \langle f(X), f(\gamma^+_{\alpha})(f(X)), f(\gamma^-_{\alpha})(f(X)) \rangle / X \in \mathfrak{R}_1 \}$. There exist $X, Y \in \mathfrak{R}_1$ such that f(X), $f(Y) \in \mathfrak{R}_2$,

i.	$(f(\gamma^+\alpha))(f(X) - f(Y))$	=	$(f(\gamma^+_{\alpha}))(f(X-Y))$
		=	γ^+_{α} (X–Y)
		\leq	$\max \left\{ \gamma^{+}_{\alpha} \left(X \right), \gamma^{+}_{\alpha} \left(Y \right) \right\}$
		=	$\max \{(f(\gamma^{+}\alpha))(f(X)), (f(\gamma^{+}\alpha))(f(Y))\}$
	$(f(\gamma^+_\alpha))(f(X) - f(Y))$	\leq	$\max \{ (f(\gamma^{+}_{\alpha}))(f(X)), (f(\gamma^{+}_{\alpha}))(f(Y)) \} \}$
ii.	$(f(\gamma^{+}_{\alpha}))(f(X) f(Y))$	=	$(f(\gamma^+_{\alpha}))(f(XY))$
		=	γ^+_{α} (XY)
		\leq	max $\{\gamma^{+}_{\alpha}(X), \gamma^{+}_{\alpha}(Y)\}$
		=	$\max \{ (f(\gamma^{+}\alpha))(f(X)), (f(\gamma^{+}\alpha))(f(Y)) \}$
	$(f(\gamma^+\alpha))(f(X)f(Y))$	\leq	$\max \{ (f(\gamma^{+}\alpha))(f(X)), (f(\gamma^{+}\alpha))(f(Y)) \}.$

International Journal of Modern Agriculture, Volume 10, No.1, 2021 ISSN: 2305-7246

iii.	$(f(\gamma^{-}_{\alpha}))(f(X) - f(Y))$	=	$(f(\gamma^{-}\alpha))(f(X-Y))$
		=	γ^{-}_{α} (X–Y)
		\geq	min { $\gamma^{-}_{\alpha}(X)$, $\gamma^{-}_{\alpha}(Y)$ }
		=	$\min \left\{ \left(f\left(\gamma^{-} \alpha \right) \right) \left(f(X) \right), \left(f\left(\gamma^{-} \alpha \right) \right) \left(f(Y) \right) \right\}$
	$(f(\gamma^{-}\alpha))(f(X) - f(Y))$	\geq	$\min \{ (f(\gamma^{-}\alpha)) (f(X)), (f(\gamma^{-}\alpha)) (f(Y)) \}$
iv.	$(f(\gamma^{-}\alpha))(f(X)f(Y))$	=	$(f(\gamma^{-}\alpha))(f(XY))$
		=	γ^{-}_{α} (XY)
		\geq	min { $\gamma^{-}_{\alpha}(X)$, $\gamma^{-}_{\alpha}(Y)$ }
		=	$\min \{ (f(\gamma^{-}\alpha)) (f(X)), (f(\gamma^{-}\alpha)) (f(Y)) \}$
	$(f(\gamma^{-}\alpha))(f(X)f(Y))$	\geq	min {(f ($\gamma^{-}\alpha$)) (f(X)), (f ($\gamma^{-}\alpha$)) (f(Y))}.
f	() '		l din a f m

Hence, f (γ_G) is a bipolar anti fuzzy HX subring of \Re_2 .

4.3 Theorem

Let \Re_1 and \Re_2 be any two HX rings on R_1 and R_2 respectively. Let $f : \Re_1 \to \Re_2$ be a homomorphism on HX rings. Let H be a bipolar fuzzy subset of R₂. Let $\lambda_{\rm H}$ be a bipolar anti fuzzy HX subring of \Re_2 , then f⁻¹(λ_H) is a bipolar anti fuzzy HX subring of \Re_1 .

Proof Let $H = \{ \langle y, \beta^+(y), \beta^-(y) \rangle / y \in R_2 \}$ be a bipolar fuzzy set defined on R_2 . Let $\lambda_H = \{ \langle Y, \lambda^+_{\beta}(Y), \lambda^-_{\beta}(Y) \rangle / Y \in \Re_2 \}$ be a bipolar fuzzy HX subring of \Re_2 Then, $f^{-1}(\lambda_{H}) = \{ \langle X, f^{-1}(\lambda^{+}_{\beta})(X), f^{-1}(\lambda^{-}_{\beta})(X) \rangle / X \in \Re_{1} \}.$ For any $X, Y \in \Re_{1}, f(X), f(Y) \in \Re_{2},$

•11)	U **	-, - (·• p)(/, -	(•• p)(-=)/ · -	
	i. (f ⁻	$^{-1}(\lambda^{+}{}_{eta}))(X{-}Y)$	=	λ^+_{β} (f(X–Y))
			=	$\lambda^+_{\beta} \left(f(X) - f(Y) \right)$
			\leq	max { λ^{+}_{β} (f(X)), λ^{+}_{β} (f(Y))}
			=	max {($f^{-1}(\lambda^{+}_{\beta})$) (X) , ($f^{-1}(\lambda^{+}_{\beta})$) (Y)}
		$(f^{-1}(\lambda^{+}\beta))(X-Y)$	\leq	max {($f^{-1}(\lambda^{+}_{\beta})$) (X) , ($f^{-1}(\lambda^{+}_{\beta})$) (Y)}.
	ii.	$(f^{-1}(\lambda^+\beta))(XY)$	=	λ^{+}_{β} (f(XY))
			=	λ^{+}_{β} (f(X) f(Y))
			\leq	max { λ^{+}_{β} (f(X)), λ^{+}_{β} (f(Y))}
			=	max {($f^{-1}(\lambda^{+}\beta)$) (X) , ($f^{-1}(\lambda^{+}\beta)$) (Y)}
		$(f^{-1}(\lambda^+\beta))(XY)$	\leq	max {($f^{-1}(\lambda^+\beta)$) (X) , ($f^{-1}(\lambda^+\beta)$) (Y)}
	iii.	$(f^{-1}(\lambda^{-}\beta))(X-Y)$) =	$\lambda^{-\beta}$ (f(X-Y))
			=	$\lambda^{-}\beta (f(X) - f(Y))$
			\geq	min { $\lambda^{-}_{\beta}(f(X))$, $\lambda^{-}_{\beta}(f(Y))$ }
			=	min {($f^{-1}(\lambda_{\beta})$) (X), ($f^{-1}(\lambda_{\beta})$) (Y)}
		$(f^{-1}(\lambda^{-}\beta))(X-Y)$	\geq	$\min\{(f^{-1}(\lambda^{-}\beta))(X),(f^{-1}(\lambda^{-}\beta))(Y)\}.$
	iv.	$(f^{-1}(\lambda^{-}\beta))(XY)$	=	$\lambda^{-\beta}(f(XY))$
			=	λ^{-}_{β} (f(X) f(Y))
			\geq	min $\{\lambda_{\beta}^{-}(f(X)), \lambda_{\beta}^{-}(f(Y))\}$
			=	min {($f^{-1}(\lambda_{\beta})$) (X), ($f^{-1}(\lambda_{\beta})$) (Y)}
		$(f^{-1}(\lambda^{-}\beta))(XY)$	\geq	$\min\{(f^{-1}(\lambda^{-}_{\beta}))(X), (f^{-1}(\lambda^{-}_{\beta}))(Y)\}.$
ce,	$f^{-1}(\lambda_H)$) is a bipolar anti f	uzzy HX su	bring of \mathfrak{R}_{1}

Hence, f $^{-1}(\lambda_{H})$ is a bipolar anti fuzzy HX subring of $\mathfrak{R}_{1.}$

4.4 Theorem

Let \mathfrak{R}_1 and \mathfrak{R}_2 be any two HX rings on the rings R_1 and R_2 respectively. Let $f: \mathfrak{R}_1 \to \mathfrak{R}_2$ be an anti homomorphism on HX rings. Let G be a bipolar fuzzy subset of R_1 . Let γ_G be a bipolar anti fuzzy HX subring of \mathfrak{R}_1 then f (γ_G) is a bipolar anti fuzzy HX subring of \mathfrak{R}_2 , if γ_G has a infimum property and γ_G is f-invariant.

Proof Let $G = \{ \langle x, \alpha^+(x), \alpha^-(x) \rangle / x \in R_1 \}$ be a bipolar fuzzy set defined on a ring R_1 . Then, $\gamma_G = \{ \langle X, \gamma^+_{\alpha}(X), \gamma^-_{\alpha}(X) \rangle / X \in \mathfrak{R}_1 \}$ be a bipolar anti fuzzy HX subring of a HX ring \mathfrak{R}_1 . Then, $f(\gamma_G) = \{ \langle f(X), f(\gamma^+_{\alpha})(f(X)), f(\gamma^-_{\alpha})(f(X)) \rangle / X \in \mathfrak{R}_1 \}$. There exist X, $Y \in \mathfrak{R}_1$ such that f(X), $f(Y) \in \mathfrak{R}_2$,

-(-)	- 27		
i.	$(f\left(\gamma^{\scriptscriptstyle +}{}_\alpha\right))\left(f(X)-f(Y)\right)$	=	$(f(\gamma^+\alpha))(f(X-Y))$,
		=	γ^+_{α} (X–Y)
		\leq	$\max \left\{ \gamma^{+}_{\alpha} \left(X \right), \gamma^{+}_{\alpha} \left(Y \right) \right\}$
		=	$\max \{ (f(\gamma^{+}_{\alpha}))(f(X)), (f(\gamma^{+}_{\alpha}))(f(Y)) \} \}$
	$(f(\gamma^{+}\alpha))(f(X) - f(Y))$	\leq	max {($f(\gamma^+\alpha)$) ($f(X)$), ($f(\gamma^+\alpha)$) ($f(Y)$)}
ii.	$(f(\gamma^{+}\alpha))(f(X) f(Y))$	=	$(f(\gamma^{+}\alpha))(f(XY))$
		=	γ^{+}_{α} (YX)
		\leq	max { $\gamma^{+}_{\alpha}(\mathbf{Y}), \gamma^{+}_{\alpha}(\mathbf{X})$ }
		\leq	max { $\gamma^{+}_{\alpha}(X), \gamma^{+}_{\alpha}(Y)$ }
		=	$\max \{ (f(\gamma^{+}_{\alpha}))(f(X)), (f(\gamma^{+}_{\alpha}))(f(Y)) \} \}$
	$(f(\gamma^+\alpha))(f(X)f(Y))$	\leq	$\max \{ (f(\gamma^{+}\alpha))(f(X)), (f(\gamma^{+}\alpha))(f(Y)) \}.$
iii.	$(f(\gamma^{-}\alpha))(f(X) - f(Y))$	=	$(f(\gamma^{-\alpha}))(f(X-Y))$,
		=	$\gamma^{-\alpha}(X-Y)$
		\geq	min { $\gamma^{-}_{\alpha}(X)$, $\gamma^{-}_{\alpha}(Y)$ }
		=	min { $(f(\gamma^{-}\alpha))(f(X)), (f(\gamma^{-}\alpha))(f(Y))$ }
	$(f(\gamma^{-}\alpha))(f(X) - f(Y))$	\geq	min { $(f(\gamma^{-}\alpha))(f(X)), (f(\gamma^{-}\alpha))(f(Y))$ }
iv.	$(f(\gamma^{-}\alpha))(f(X) f(Y))$	=	$(f(\gamma^{-}\alpha))(f(XY))$
		=	$\gamma^{-\alpha}$ (YX)
		\geq	$\min \left\{ \gamma^{-}_{\alpha}(\mathbf{Y}), \gamma^{-}_{\alpha}(\mathbf{X}) \right\}$
		=	$\min\left\{\gamma^{-\alpha}(\mathbf{X}), \gamma^{-\alpha}(\mathbf{Y})\right\}$
		=	$\min \left\{ (f(\gamma^{-\alpha}))(f(X)), (f(\gamma^{-\alpha}))(f(Y)) \right\}$
	$(f(\gamma^{-}\alpha))(f(X)f(Y))$	\geq	$\min \{ (f(\gamma^{-}\alpha)) (f(X)), (f(\gamma^{-}\alpha)) (f(Y)) \}.$
Hence, f (γ_G) is a bipolar anti fuzzy HX subring of \Re_2 .			
reacting of the			

4.5 Theorem

Let \Re_1 and \Re_2 be any two HX rings on R_1 and R_2 respectively. Let $f : \Re_1 \to \Re_2$ be an anti homomorphism on HX rings. Let H be a bipolar fuzzy subset of R_2 . Let λ_H be a bipolar anti fuzzy HX subring of \Re_2 , then $f^{-1}(\lambda_H)$ is a bipolar anti fuzzy HX subring of \Re_1 .

Proof Let $H = \{ \langle y, \beta^+(y), \beta^-(y) \rangle / y \in R_2 \}$ be a bipolar fuzzy set defined on R_2 . Let $\lambda_H = \{ \langle Y, \lambda^+\beta(Y), \lambda^-\beta(Y) \rangle / Y \in \Re_2 \}$ be a bipolar fuzzy HX subring of \Re_2 Then, $f^{-1}(\lambda_H) = \{ \langle X, f^{-1}(\lambda^+\beta)(X), f^{-1}(\lambda^-\beta)(X) \rangle / X \in \Re_1 \}$.For any $X, Y \in \Re_1$, f(X), $f(Y) \in \Re_2$,

International Journal of Modern Agriculture, Volume 10, No.1, 2021 ISSN: 2305-7246

		=	max { ($f^{-1}(\lambda_{\beta}^{+})$) (X) , ($f^{-1}(\lambda_{\beta}^{+})$) (Y) }
	$(f^{-1}(\lambda^{+}_{\beta}))(X-Y)$	\leq	$\max \{ (f^{-1}(\lambda^{+}_{\beta}))(X), (f^{-1}(\lambda^{+}_{\beta}))(Y) \}.$
ii.	$(f^{-1}(\lambda^+\beta))(XY)$	=	λ^{+}_{β} (f(XY))
		=	λ^{+}_{β} (f(Y) f(X))
		\leq	$\max \{\lambda^{+}_{\beta} (f(\mathbf{Y})), \lambda^{+}_{\beta} (f(\mathbf{X}))\}$
		=	$\max \{\lambda^{+}_{\beta}(f(X)), \lambda^{+}_{\beta}(f(Y))\}$
		=	max {($f^{-1}(\lambda^{+}_{\beta})$) (X), ($f^{-1}(\lambda^{+}_{\beta})$) (Y)}
	$(f^{-1}(\lambda^+\beta))(XY)$	\leq	max {($f^{-1}(\lambda^{+}_{\beta})$) (X), ($f^{-1}(\lambda^{+}_{\beta})$) (Y)}
iii.	$(f^{-1}(\lambda^{-\beta}))(X-Y)$	=	λ^{-}_{β} (f(X-Y))
		=	$\lambda_{\beta}^{-}(f(X) - f(Y))$
		\geq	min { λ^{-}_{β} (f(X)) , λ^{-}_{β} (f(Y))}
		=	min { $(f^{-1}(\lambda^{-\beta}))(X), (f^{-1}(\lambda^{-\beta}))(Y)$ }
	$(f^{-1}(\lambda^{-}_{\beta}))(X-Y)$	\geq	$\min\{(f^{-1}(\lambda^{-\beta}))(X), (f^{-1}(\lambda^{-\beta}))(Y)\}.$
iv.	$(f^{-1}(\lambda^{-\beta}))(XY)$	=	$\lambda^{-\beta}$ (f(XY))
	(1 () ()) (11)	=	$\lambda^{-\beta} (f(\mathbf{Y}) f(\mathbf{X}))$
		\geq	$\min \left\{ \lambda^{-\beta} \left(f(\mathbf{Y}) \right), \lambda^{-\beta} \left(f(\mathbf{X}) \right) \right\}$
		=	$\min \{\lambda^{-\beta}(f(\mathbf{X})), \lambda^{-\beta}(f(\mathbf{Y}))\}$
		=	$\min \{ (\pi^{-1}(\lambda^{-\beta})) (X), (f^{-1}(\lambda^{-\beta})) (Y) \}$
	$(f^{-1}(\lambda^{-}\beta))(XY)$	_ ≥	$\min\{(f^{-1}(\lambda^{-1}\beta))(X), (f^{-1}(\lambda^{-1}\beta))(Y)\}.$
f^{-1}	(1 (0, p))(2x1)		

Hence, $f^{-1}(\lambda_H)$ is a bipolar anti fuzzy HX subring of $\Re_{1.}$

Conclusion

In this paper we introduce the concept of bipolar anti fuzzy HX ring and discuss the basic results on HX ring. Further investigation may be in bipolar anti fuzzy HX ideals on HX ring which will give a new horizon in the further study.

REFERENCES

- [1] Atanassov.K.T, intuitionistic fuzzy sets, Fuzzy Sets and System 20 (1986) ,pp 87-96.
- [2] Bing-xueYao and Yubin-Zhong, The construction of power ring, Fuzzy information and Engineering (ICFIE), ASC 40, pp.181-187, 2007.
- [3] Li Hong Xing, HX ring, BUSEFAL, 34(1) 3-8, January 1988.
- [4] K.M.Lee, Bipolar –valued fuzzy sets and their operations, Pro.Int.Conf.on Intelligent Technologies, Bangkok, Thailand, 2000, pp. 307-312.
- [5] Muthuraj.R, Muthuraman.M.S, Intutionistic fuzzy HX ring, IOSR Journal of Mathematics (IOSR-JM), Volume 10,Issue 4,ver II, 3-12, Aug 2014.
- [6] Muthuraj. R, Sridharan.M, Bipolar anti fuzzy HX group and its lower level sub HX groups, Journal of Physical sciences, 2012, Vol.16, pp:157-169.
- [7] Zadeh.L.A., Fuzzy sets, Information and control,8,338-353.